Name Partner Per 1/10/14. Work with a partner. See the
example on the board. Use color to connect reason to diagram. Teacher checks before you move on.

A. R is the midpoint of both PT and 0S.
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B. 4E = CB, 4B = CD,
and B is the midpoint of ED.
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C.. 4B L BE and DE L BE, AB = DE, and <BAC = <EDC.
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D. <GKM = <LMK and <GMK = <LKM.
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E. E) = SP. and X is the midpoint of both Q_S and RP.
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F. 7O bisects <PTS and 70 L PS.
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G.. <A=<Sand RT bisects <ARS.

H. GL L KM and GK = GM .
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|. <B=<Z, Xis the midpoint of AY, and
<I and <2 are right angles.
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J. Q_\/I = KD and MH = DH, and H is the midpoint of&.
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K. T is the midpoint of RS and <A = <P
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L SX = RX and X7 bisects <SXR.
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N. Given: UV

=WV, UX = WX
Prove: LU = £ W
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0. Given: F/=GH, ZJFH= ZGHF
Prove: FG=JH
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P. Given: QK = QA, QB bisects ZKQA

Prove: KB=AB
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Given: LE = /P
K is the midpoint of EP
K Prove: EG = MP
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Given: BD = BE
=xXC
D e A= X
Prove: AABE = ACBD
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S Given: C bisects AE
/B and £D areright angles
LA =/E

Prove: BC=DC
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T. Given: AC_1BD
AD=CD

Prove: AB=BC
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U. Given: MN=MP, MP L PO, MN 1L NO
Prove: /NOM = /POM
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V. Given: ZBCA=/DCE
4B and ZD are right angles

C is the midpoint of BD

Prove: BA=DE
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W. Given: AC~EC
C bisects BD

Prove: AB= ED
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